
Can you solve this calculation … 
      
         Two children play a card game with a 52 card deck. 
               The boy has six cards in his hand.  
                The girl has five  cards in her hand 
                 How many cards are left in the deck? 

I think it’s 63! 
 

           What do you think? 

I know , It’s 11! 

Well 11 take away 52 is  41  and 
so that must be the answer No!  You have to do 52 take 

away 11 to find the answer. 

Who is right and why?     What have the others done wrong? 
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